
Lösung 2Lösung 1

zu a) ( x−x0 )⋅( x
2+x⋅x0+x0 )

=x3+x2⋅x0+ x⋅x0
2−x⋅x0

2−x0
3

=x3−x0
3

zu b) ( x−x0 )⋅( x
3+ x2⋅x0+x⋅x0

2+x0
3 )

=x4+ x3⋅x0+x
2⋅x0

2+x⋅x0
3−x3⋅x0−x

2⋅x0
2−x⋅x0

3−x0
4

=x4−x0
4

( x−x0 )⋅( x
n−1+ xn−2⋅x0+x

n−3⋅x0
2+...+x⋅x0

n−2+ x0
n−1 )

=xn+xn−1⋅x0+x
n−2⋅x0

2+...+x⋅x0
n−1−xn−1⋅x0−x

n−2⋅x0
2−...−x0

n

=xn−x0
n
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f ( x )−f ( x0 )

x−x0

=
xn−x0

n

x−x0

=
( x−x0 )⋅( x

n−1+xn−2⋅x0+x
n−3⋅x0

2+...+x⋅x0
n−2+x0

n−1)

x−x0
=xn−1+xn−2⋅x0+x

n−3⋅x0
2+...+x⋅x0

n−2+x0
n−1

Lösung 3 Lösung 4
p( x )−p( x0 )

x−x0
=
x4−x0

4

x−x0
=

( x−x0 )⋅( x
3+x2⋅x0+ x⋅x0

2+x0
3)

x−x0
=x3+x2⋅x0+x⋅x0

2+x0
3
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Dieses Werk ist lizenziert unter einer
Creative Commons Namensnennung 4.0 International Lizenz. 
2020 Henrik Horstmann

Lösung 5
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p' ( x )= lim
x0→x

x4−x0
4

x−x0
=x3+x2⋅x+x⋅x2+x3=x3+x3+x3+x3=4 x3

f ' ( x )= lim
x0→ x

xn−x0
n

x−x0
=xn−1+xn−2⋅x+xn−3⋅x2+...+ x⋅xn−2+xn−1

=xn−1+xn−1+xn−1+...+xn−1⏟
n -mal

=n⋅xn−1
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